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| Fluency Check!
Solve these equations.
3 | 1 4
12 13 hd +0
\ 5 2 2 |
+0 + 2 hr®) u®
S 4 | 5
hd ll 135 0
b s
0 12 4 +2
3 4 2 2
e +0 +2 .
- Totdl correct: |




Solve these equations

5
+0

lo(ﬂ I—-Eo |r\)CN

-

Fluency Check!
2 2
t+ 2 )
| 4 4
) had +0
0 3 3
13 12 hl
2 I 2 /
12 +4 lle)
4 | 5
hlll ) +0

Total correct:
——|
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Fluency Check!
Solve these equations.
2 4 0
+3 + | +3
I S 2 Y
+4 +0 12 +0
S | 2 0
hd u® u® 13 /
| | 5 I
4 12 +0 +3
3 4 2 |
12 hll 12 +5

Total correct:
— —|




Fluency Checkl

Solve these equations.

4 5 2
+l +0 +5
s . 2
il +3 +3

| 5 2 Y

#4 +0 +2 +0

3 4 2 I

12 + 1 12 13

| | 5 |

44 +2 +0 +3

Total correct:
The answer is 5 apples @
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Solve these equations.

2

Fluency Check!

The answer is b omnges.

Total correct:
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Fluency Check!

Solve these equations.

3 2 3
Il al =0
H 3 4
-0 3 =0

e 2 3 2

= =0 -0 -l

3 ! 3 |

= el -l -0

| %) 2 2

= = - | -0

Total correct:

-/

NG
The answer is 7 bananas. “~—__~
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Name
Fluency Check!
Solve these equations.
S S S
d =0 d
\ \ I 4 3 2
| -l -0 -
2 " 5 3
-0 -0 = -
S 4 2 5
=0 = | =0
S S 4 S
Il Il il =0
The answer is 8 pretzels.
/




Fluency Check!

Solve these equations.

Y

-2

5
d

The answer is 9 doughnuts.

3

-1

3 4
-2 -1
5 3
-l |
4 5
-1 -1
4 2
=2 -0

T Total correct:
&)

et

-

|



5 !
-2 -0
5 4
-0 -2
! 5
-2 -l
4 5
-l -l
3 5
-2 -2

Total correct:




Fluency Check!

Solve these equations.

S 2 |
4] -1 4]
2 3 0
=0 il 12
| 3 |
- =0 Il
|

| +3 A
) 3 |
-0 | +2

Total correct:




Solve these equations

N

Fluency Check!

2 l
1 1
S 0
-0 12
l I
42 -0 | /
J l
=] =l
| |
13 12
Total correct: [
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Fluency Check!
Solve these equations.
3 2 4
H -l . hl il
3 4 l 2
+0 =] +2 -0
| 3 4 3
-l hl -2 15
S 4 2 | N
-2 + +3 +2
4 3 5 5
ul. +2 - =5

Total correct:
- . S H




Fluency Checkl

Solve these equations

4 5 3
! -2 +
| 3 2
=3 +] +2
| 3 |
-2 =3 +4
2 5 |
+3 -2 +3
| | 3
- | | -2

Total correct:

NS
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Solve these equations

%) %)
D
2 2

-2 +2

) I

+2 +4

4 |

=2 +5

%) %)

Fluency Check!

o

AR G

o o

N4,

— =

INg=

& o

=

Total correct:




Solve these equations.

)
0

5
-

- =

—

Fluency Check!

AN Y

I
N

Total correct:

\




Name:
Fluency Check!
Solve these equations
3 S S
-l b =5 i
2 2 3 4
=2 +2 . =3
) | 3 4
+2 +4 =5 -2
4 | 5 2 /(
-2 +3 -2 +3
3 3 4 4

| L
ha
s
o

Total correct:

e —\




Solve these equations.

3 5
=5 =3
S S
+2 12
3 |
12 +3
=5 15
8 2
d 12

Fluency Check!

2

43
| 5
+3 -2
5 4
-2 4]
4 3
-2 -
3 )
-2 -]

Total correct:

l —
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Fluency Check!

Solve these equations

3 | 5
12 +3 -2
5) 2 |
-2 12 +4
5] 5 2
=3 =3 +3
5 3 |
+0 =2 4
4 2 Y
) +3 -2

Total correct:
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Fluency Check!

Solve these equations.

3 2 5
10 13 =
| . |
-0 il 14
| 5 5
o b 10
S 3 |
10 -2 14
4 2 3
-2 +2 -2

Total correct:
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